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alphal3_4eX1X:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216
cyclenum

delta46_12X4eY:cyclenum {run == 8332}
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cyclenum
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Alprias

0.2
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alpha46_4eY4aY:cyclenum {run == 8332}
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3333.5
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8331

3330.5

8330

1 :%;N?’I? $12181213.812181214.512151215 51@:6

cyclenum

run:cyclenum {run == 8332}

112121212.512181213.5121281214.512151215.51216
cyclenum
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-2.65
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deltal3_12X4eX:cyclenum {run == 8332}
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112121212.512181213.512121214.512151215.51216
cyclenum

segment:cyclenum {run == 8332}
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cyclenum
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usl_1X:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216
cyclenum

usl_4eY:cyclenum {run == 8332}
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cyclenum

usl_12X

usl_4aY:cyclenum {run == 8332}
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112121212.512181213.512181214.512151215.51216
cyclenum

usl_12X:cyclenum {run == 8332}

112121212.512181213.5121281214.512151215.51216
cyclenum

usl_4eX
00
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8334

3333.5

8333

3332.5

8332

3331.5

8331

3330.5

8330

usl_4eX:cyclenum {run == 8332}

21212.512181213.512121214.512151215.51216
cyclenum

run:cyclenum {run == 8332}

112121212.512181213.512121214.512151215.51216
cyclenum




usr_1X:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216
cyclenum

usr_4eY:cyclenum {run == 8332}
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21212.512181213.512121214.512151215.5
cyclenum
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usr_4aY:cyclenum {run == 8332}

112121212.512181213.512181214.512151215.51216
cyclenum

usr_12X:cyclenum {run == 8332}
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cyclenum
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3331.5
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usr_4eX:cyclenum {run == 8332}
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cyclenum

run:cyclenum {run == 8332}

112121212.512181213.512121214.512151215.51216
cyclenum




16950
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16850

16800

16750

16700

16650

16600
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16500
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-2500
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usl_coill:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216

cyclenum

usl_coil6:cyclenum {run == 8332}

112121212.512181213.812141214.512151215.561216

cyclenum
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usl_coil3:cyclenum {run == 8332}
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cyclenum

usl_coil7:cyclenum {run == 8332}

0 112121212.512181213.512141 714_512151215.51%%5

cyclenum
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usl_coil4:cyclenum {run == 8332}
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cyclenum

run:cyclenum {run == 8332}

112121212.512181213.512121214.512151215.51216
cyclenum




yclenum {run == 8332}

usr_coil4:c

yclenum {run == 8332}

usr_coil3:c

yclenum {run == 8332}

usr_coill:c

6

21212.512181213.812141214.512151215.5:

112121212.512181213.412141214.512151215.51216

-2080 -~

112121212.512181213.812141214.512151215.561216

cyclenum

cyclenum

cyclenum

run:cyclenum {run == 8332}

yclenum {run == 8332}

usr_coil7:c!

yclenum {run == 8332}

usr_coil6:c

112121212.512181213.412141214.512151215.51216

8334
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112121212.512181213.812181214.512151215.51226

112121212.512181213.812141214.512151215.561216

cyclenum
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1-129
3
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1
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-134
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-139

;—228
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-230
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—232
-233
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1X_coill:cyclenum {run == 8332}

112121212.512181213.5121241214.512151215.51216
cyclenum

4eX_coill:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216
cyclenum
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1X_coil3:cyclenum {run == 8332}
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112121212.512181213.412141214.512151215.51216

cyclenum

4eX_coil3:cyclenum {run == 8332}

112121212.512181213.5121281214.512151215.51216
cyclenum
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1X_coil7:cyclenum {run == 8332}
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cyclenum

4eX_coil7:cyclenum {run == 8332}
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cyclenum



yclenum {run == 8332}

4aY_coil7:c

yclenum {run == 8332}

4aY_coilé:c

yclenum {run == 8332}

4aY_coild:c

112121212.512181213.812141214.512151215.51216
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1100~ At

cyclenum
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cyclenum

yclenum {run == 8332}

4eY_coil7:c

yclenum {run == 8332}

4eY_coilé:c

yclenum {run == 8332}

4eY_coild:c

112121212.512181213.412141214.512151215.51216

e
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cyclenum
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©
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12X_coill:cyclenum {run == 8332}
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112121212.512181213.5121241214.512151215.51216
cyclenum

12X_coil6:cyclenum {run == 8332}

21212.512181213.512121214.512151215.51216
cyclenum
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12X_coil3:cyclenum {run == 8332}
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112121212.512181213.512181214.512151215.51216
cyclenum

12X_coil7:cyclenum {run == 8332}

112121212.512181213.5121281214.512151215.51216
cyclenum
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12X_coil4:cyclenum {run == 8332}

ol ! f L 1110 11130
112121212.512181213.512121214.512151215.51216
cyclenum

run:cyclenum {run == 8332}

112121212.512181213.512121214.512151215.51216
cyclenum
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